
1Achievers

RRB NTPC (CBT-2) Practice Set

Answers with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (a) •îûy ëy„þ– ¢‚…Äy ”%!Ýþ £œ 6x ~î‚ 6y
²ÌÙÀy˜%¢yöìîû– 6x × 6y = 432
“þy£öìœ– x × y = 12
~…˜– 12 × 1 = 12 ~î‚ 4 × 3 = 12
xíÅyê 2 ö‹yvþüy ¢‚…Äy ¢½þîÐ

2. (c) xöìÝþyöì›yîy£zœ !ŸÒ ~“þ o&“þ£yöìîû öîöìvþü ‰þöìœöìŠé îöìœ ~öì„þ
vþz”#ëû›y˜ !ŸÒ îœy £ëûÐ “þöìî ~£z !ŸÒöì„þ x˜%¢yîû# !ŸÒ
îœy £ëûÐ

3. (a) ›%Áºy£z Ÿ£öìîû xî!ßþi“þ “þyîûyþ™%îû £œ ¦þyîûöì“þîû ²Ìí›
þ™yîû›y’!î„þ !î”%Äêöì„þwÐ

4. (b) !vþ†îëû ¦þyîûöì“þîû ²Ìy‰þ#˜“þ› ÷“þœöìÇþeÐ x¢öì›îû !vþîÊ&†vþü
ö‹œyîû !“þþ™y› þ™y£yöìvþü xî!ßþi“þÐ 1959 ¢yœ öíöì„þ çöìëûœ
£z!uþëûy !œ!›öìÝþvþ ~£z ÷“þœöìÇþöìe „þy‹ „þîûöìŠéÐ

5. (a)
1 1p 5
p 4
  

1 1 19 3p 5 4
p 4 4 4

     

6. (d) ”%!Ýþ îy “þöì“þy!•„þ þ™îû›y’%îû !˜vþzÝþÆ̃  ¢‚…Äy ¢›y˜– !„þlsþ þ™îû›y’%
e«›yBþ ¢›y˜ £öìœ “þyöì”îû xy£zöì¢yöìÝþy˜ ‹œÐ

öë›˜ 16
8 O – 15

7 N – 14
6C

7. (c) !˜!Ü;þëû †Äyöì¢îû ›öì“þy ¢%!ßþi“þ †àþ˜ „þyàþyöì›y œyöì¦þîû ‹˜Ä
þ™îû›y’% öíöì„þ £zöìœ„þÝþÆ̃  î‹Å̃  îy £zöìœ„þÝþÆ̃  @ùÌ£’ £ëûÐ
 Méôé~îû þ™yîû›y’!î„þ ¢‚…Äy 9Ð ~!Ýþ 1!Ýþ £zöìœ„þÝþÆ̃  @ùÌ£’
„þöìîû Ne– ~îû ›öì“þy †àþ˜ !î˜Äy¢ œy¦þ „þöìîû– šþöìœ
M  M– £ëûÐ

8. (b) X-îû!ÙÂ £yvþü ö¦þ” „þöìîû öëöì“þ þ™yöìîû ˜yÐ
9. (d) abcab/bcaba/aabcb/bbcaa
10. (b) !îÊöìÝþöì̃ îû !méôé„þÇþ#ëû þ™yœÅyöì›rÝþy!îû Ÿy¢˜ îÄîßþiyîû x˜%„þîûöì’

¦þyîûöì“þ !m„þÇþ#ëû Sîûy‹Ä¢¦þy ç öœy„þ¢¦þyV ¢‚¢”#ëû Ÿy¢˜
îÄîßþiy †öìvþü vþzöìàþöìŠéÐ

11. (c) x!“þ!îû_« þ™!îû×› „þîûyîû ¢›ëû öþ™!Ÿîû xî¢y” ö”…y ëyëû–
„þyîû’ öþ™!Ÿöì“þ œÄy„þ!Ýþ„þ xÄy!¢vþ ‹öì› ëyëûÐ

12. (d) ~öìÇþöìe 64 = 125éôé~îû xBþ !“þ˜!Ýþîû ¢›!ÜTîû î†ÅÐ
 ? = 324ôé~îû xBþ !“þ˜!Ýþîû ¢›!ÜTîû î†Å = 81

13. (b) îûy‹Äþ™yöìœîû £yöì“þ îûyöì‹Äîû „þyëÅ!˜îÅy£# Çþ›“þy ˜Äyhßþ íyöì„þÐ
îûy‹Äþ™yœ £öìœ˜ îûyöì‹Äîû ¢y‚!î•y!˜„þ ²Ì•y˜Ð

14. (b) ~„þ!Ýþ vþz_œ ”þ™Åöì’îû ¢y›öì̃  ö„þyöì̃ y îlßþ îûy…öìœ îlßþ!Ýþîû
²Ì!“þ!îÁº îlßþîû “%þœ˜yëû Ç%þo £ëûÐ “þy£z ~„þ£z xy„þyöìîûîû ¢›“þœ
”þ™Åöì’îû “%þœ˜yëû vþz_œ ”þ™Åöì’ xöì̃ „þ öî!Ÿ ¢‚…Ä„þ îlßþîû
²Ì!“þ!îÁº ö”…öì“þ þ™yçëûy ëyëû— xíÅyê vþz_œ ”þ™Åöì’îû ”,!ÜTöìÇþe

xöì̃ „þ îöìvþüy £ëûÐ ~„þ£z „þyîûöì’ !þ™Šé˜ öíöì„þ xy¢y ëy˜îy£˜
ö”…yîû ‹˜Ä †y!vþüöì“þ vþz_œ ”þ™Å’ îÄî£yîû „þîûy £ëûÐ

15. (d) 1919 ¢yöìœ ¦þy¢Åy£z ‰%þ!_«öì“þ !œ† xšþ ö˜Ÿ˜öì¢îû ßþºŸy!¢“þ
¢‚ßþiy !£öì¢öìî £zrÝþyîû̃ ÄyŸ˜yœ öœîyîû x†Åy˜y£zöì‹Ÿ˜ (ILO)
²Ì!“þ!Ûþ“þ £ëûÐ 1946 ¢yöìœ ILO îûyÜTÉ¢‚öì‡îû ²Ìí› !îöìŸ¡ì
¢‚ßþiy !£öì¢öìî ßþº#„,þ!“þ þ™yëûÐ

16. (c) ›)œ Ÿ· : C O N V E N T I O N A L

N O C N E V O I T L A N¢‚öì„þ“þ :

x˜%îû*öìþ™– R E F R I G E R A T O R

F E R G I R A R E R O T

17. (c) þ™îû#Çþy†yöìîû £y£zöìvÈþyöì‹˜ †Äy¢ ²Ìlßþ!“þöì“þ œ‡% ¢yœ!šþvþz!îû„þ
xÄy!¢vþ ç x!îÖkþ !‹Bþ îÄî£yîû „þîûy £ëû– „þyîû’
¢yœ!šþvþz!îûöì„þîû ¢öìD x!îÖkþ !‹öìBþîû !î!e«ëûyëû– !‹öìBþîû
çþ™îû £y£zöìvÈþyöì‹öì̃ îû ö„þyöì̃ y xyhßþîû’ þ™öìvþü ˜yÐ !îÖkþ !‹Bþ
îÄî£yîû „þîûöìœ £y£zöìvÈþyöì‹öì̃ îû xyhßþîû’ þ™öìvþü !î!e«ëûy îõþ £öìëû
ëyëûÐ xþ™îû!”öì„þ †y‘þü £y£zöìvÈþy„Ïþ!îû„þ xÄy!¢öìvþîû ¢öìD !‹öìBþîû
!î!e«ëûyëû vþzêþ™§¬ £y£zöìvÈþyöì‹˜ !îÖkþ £ëû ˜yÐ

18. (b) x!“þöìî=!˜ îû!ÙÂîû ²Ì¦þyöìî cöì„þ „þÄyœ!¢öìšþîûœ £îûöì›y˜ ¢,!ÜT
£ëûÐ ~£z £îûöì›y˜ „þÄyœ!Ÿëûy› !îþ™y„þ !˜ëûsþf’ „þöìîûÐ ~£z
£îûöì›yöì̃ îû „þ› Çþîûöì’ !ŸÖöì”îû !îûöì„þÝþ öîûy† £ëûÐ

19. (b) !˜îûÇþ#ëû xMþéöìœ þ™,!íî#îû ‡)’Å̃  ¢îöì‰þöìëû öî!Ÿ– “þy£z x!¦þ„þ¡ìÅ‹
cîû’ 'g'éôé~îû ›y˜ „þöì› ëyëûÐ xyîyîû ë“þ vþz_öìîû îy ”!Çþöì’
ëyçëûy ëyëû– þ™,!íî#îû ‡)’Å̃  öî† “þ“þ£z „þöì›Ð “þy£z 'g'ôé~îû
›y˜ öîöìvþü ëyëûÐ ö›îû&öì“þ ‡)’Å̃  öî† ¢îöì‰þöìëû „þ› £ëû– “þy£z
!˜îûÇþ#ëû xMþéöìœ îlßþîû ¦þyîû îy ç‹˜ „þ› ~î‚ ö›îû&öì“þ ¦þyîû
îy ç‹˜ öî!Ÿ £ëûÐ

20. (c) vþz!qöì”îû †¤”– îû‹˜– “þîû&Çþ#îû– •y“þî ö„þœy¢ £z“þÄy!” ~î‚
²Ìy’#î û „þyîÅ˜é vþy£ zx:y£zvþ– !„þöìÝ þy˜ î!vþ £z“þÄy!”
˜y£zöìÝþÆyöì‹˜!î£#˜ öîû‰þ˜ þ™”yíÅÐ

21. (d) A = 26, B = 25, C = 24, ..., X = 3, Y = 2 ç
Z = 1 •îûy £öìœ–
(i) O = 12
(ii) MOM = M + O + M = 14+12+14 = 40
(iii) FAN = F+A+N = 21 + 26 + 13 = 60
~„þ£z !˜ëûöì›– HAND = H + A + N + D = 19 +

26 + 13 + 23 = 81

22. (b) îyëû%›[þöìœîû ¢îöì‰þöìëû ˜#öì‰þîû hßþîû ÝþÆöìþ™y!ßþ ³þëûyöìîû ²Ì!“þ
!„þöìœy!›Ýþyöìîû 6.4 !vþ!@ùÌ ö¢!rÝþöì@ùÌvþ £yöìîû vþz_yþ™ „þ›öì“þ íyöì„þÐ
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›•Ä xÇþy‚öìŸ ÝþÆöìþ™y!ßþ³þëûyöìîûîû |•¹Å ¢#›y˜yëû vþz_yþ™ –57
!vþ!@ùÌ ö¢!rÝþöì@ùÌvþ öíöì„þ –60 !vþ!@ùÌ ö¢!rÝþöì@ùÌvþ £ëûÐ

23. (a) îûy¢yëû!˜„þ !î!e«ëûyîû ¢›ëû !î!¦þ§¬ ö›ïöìœîû þ™îû›y’% £zöìœ„þÝþÆ̃
î‹Å̃  ç @ùÌ£öì’îû ¢y£yöìëÄ !îþ™îû#“þ “þ!vþüê •›Å# xyëû̃  †àþ˜
„þöìîûÐ ~£z xyëû̃ =!œ “þ!vþüê xy„þ¡ìÅöì’îû ¢y£yöìëÄ ë%_« £öìëû
öë öëï† vþzêþ™§¬ „þöìîû– “þyöì„þ “þ!vþüêöìëy‹# öëï† îöìœÐ
öë›˜éôôôé H

2
SO

4
, HNO

3
, CaO ²Ì¦,þ!“þ “þ!vþüêöìëy‹# öëï†Ð

24. (a) £zíy£zœ xÄyœöì„þy£öìœîû œ‡% oîöì’îû xy‚!Ÿ„þ þ™y“þ˜ ²Ì!e«ëûy
öíöì„þ 95.6 Ÿ“þy‚Ÿ †y‘þü £zíy£zœ xÄyœöì„þy£œ ~î‚ 4.4
Ÿ“þy‚Ÿ ‹öìœîû !›×’ þ™yçëûy ëyëûÐ ~£z !›×’öì„þ öŸy!•“þ
xÄyœöì„þy£œ îy öîû!Qšþyöìëûvþ !ßþ™!îûÝþ îöìœÐ

25. (c) a b

x
 £öìœ– (a + b) ÷ 8 = xÐ

²Ìí› !‰þöìe– (35 + 37) ÷ 8 = 72 ÷ 8 = 9Ð

!m“þ#ëû !‰þöìe– (17 + 31) ÷ 8 = 48 ÷ 8 = 6Ð

 “,þ“þ#ëû !‰þöìe– œ%® ¢‚…Äy = (27 + 61) ÷ 8

    = 88 ÷ 8 = 11

26. (d) ö˜þ™yöìœîû ”)îûî“Åþ# þ™!Øþ›yMþéöìœîû “þîûy£zöìëû ¢‚îû!Çþ“þ Ö„Ïþyšþyhsþ
çëûy£zÓþœy£zšþ !îû‹y¦Åþ xî!ßþi“þÐ ~îû ›öì•Ä !î!¦þ§¬ î˜–
“,þ’¦)þ!›– e«yhsþ#ëû ‹œy¦)þ!›– ˜”# !˜öìëû ²Ìyëû 305 î†Å
!„þöìœy!›Ýþyîû ßþiy˜ ‹%öìvþü îûöìëûöìŠéÐ vþzF‰þ“þy ²Ìyëû 174 - 1386
!›ÝþyîûÐ

27. (c) 6, 8, 9éôé~îû œ¢y= = 72

200 öíöì„þ 300éôé~îû ›öì•Ä 72éôéîû î,£_› =!’“þ„þ = 72 ×
4 = 288

 !˜öì’Åëû ¢‚…Äy = 288 + 5 = 293

28. (c) ²Ìyëû 850 ¢yœ öíöì„þ 1334 ¢yœ þ™ëÅhsþ ëy”î î‚Ÿ îûy‹c
„þöìîûöìŠéÐ ›£yîûyÜTÉéôé¢£  ›•Ä²Ìöì”öìŸîû !„þŠ%é x‚Ÿ– vþz_îû „þ’ÅyÝþ„þ–
“%þD¦þoy öíöì„þ ˜›Å”y ˜”# þ™ëÅhsþ ~¤öì”îû ¢yÁËy‹Ä !îhßþyîû œy¦þ
„þöìîû!ŠéœÐ

29. (c) ¢Á™„Åþ!Ýþ £œ– x2 + 5 : x

 261 = x2 + 5
x2 = 256
 x = 16

30. (a) A = 1, B = 2, C = 3, ..., X = 24, Y = 25 ç
Z = 26 •îûy £öìœ–

H A R D
8 1 18 4

8-36-2-16

× 2
× 2
× 2
× 2

~„þ£z¦þyöìî–

R A I L
18 1 9 12

24-18-2-36

× 2
× 2
× 2
× 2

 RAILéôé~îû ¢‚öì„þ“þ £öìî 24-18-2-36Ð
31. (a) ¦þyîûöì“þîû îûyÜTÉþ™!“þ „þ“,þÅ„þ ¢y•yîû’“þ 5 îŠéöìîûîû ‹˜Ä îûy‹Äþ™yœ

!˜ë%_« £˜Ð 153 ˜‚ •yîûyëû ¦þyîûöì“þîû ²Ì!“þ!Ýþ îûyöì‹Ä ~„þ‹˜
îûy‹Äþ™yœ íy„þöìî˜ ~£z !î¡ìëû!Ýþ îûöìëûöìŠéÐ

32. (b) £z!¨îûy þ™öìëûrÝþ ¦þyîûöì“þîû ”!Çþ’“þ› !î %̈Ð xy¨y›y˜ ç !˜öì„þyîîû
m#þ™þ™%öìO xî!ßþi“þ !˜öì„þyîîû m#þ™þ™%öìOîû ö@ùÌÝþ !˜öì„þyîîû m#þ™þ™%öìO
£z!¨îûy þ™öìëûrÝþ xî!ßþi“þÐ ~!Ýþîû þ™)öìîÅîû ˜y› !Šéœ !þ™† ›Äy!œëû̃
þ™öìëûrÝþÐ 1985 ¢yöìœîû 18 xöìQyîîû £z!¨îûy †y!õþîû ßþ¿îûöì’
~!Ýþîû ˜y› þ™!îûî“Åþ˜ „þöìîû “¤þyîû ˜y›y˜%¢yöìîû îûy…y £ëûÐ

33. (b) £z!uþëûy˜ ¢%†yîû !îû¢y‰Åþ £z̃ !ÞÝþ!ÝþvþzÝþ vþz_îû²Ìöì”öìŸîû „þy˜þ™%öìîûîû
„þœÄy’þ™%öìîû xî!ßþi“þÐ 1936 ¢yöìœ ~!Ýþ ²Ì!“þ!Ûþ“þ £ëûÐ öe«“þy
!î¡ìëû„þ– …y”Ä– ç †’î ù̂Ýþ˜ ›sþföì„þîû …y”Ä ç †˜î ù̂Ýþ˜ ”®öìîûîû
x•#öì̃  !‰þ!˜ !ŸöìÒîû †öìî¡ì’y– ²Ì!ŸÇþ’– vþzþ™öì”ÜTy þ™!îûöì¡ìîyéôé¢£
!î!¦þ§¬ „þyöì‹îû ¢öìD ‹!vþü“þÐ

34. (a) ²Ìí› hßþ½þ éôôôé 9 × 3 × 4 = 108

!m“þ#ëû hßþ½þ éôôôé 5 × 4 × 7 = 140

 ? = 150 ÷ 6 ÷ 5 = 5

35. (b) 1990 ¢yöìœîû ›!£œy ‹y“þ#ëû „þ!›Ÿ˜ xy£z̃  x˜%¢yöìîû 1992
¢yöìœ ¦þyîû“þ ¢îû„þyîû „þ“,Åþ„þ ›!£œyöì”îû ‹˜Ä ‹y“þ#ëû ›!£œy
„þ!›Ÿ˜ ˜yöì› ~„þ!Ýþ ¢‚!î!•îkþ ¢‚ßþiy ²Ì!“þ!Ûþ“þ £ëûÐ ~£z
„þ!›Ÿöì̃ îû ¢”¢Ä†’ 3 îŠéöìîûîû ‹˜Ä !˜îÅy!‰þ“þ îy ›öì̃ y˜#“þ
£˜Ð ¢‚!î•y˜ ç x˜Äy˜Ä xy£zöì̃ îû x•#öì̃  ›!£œyöì”îû ¢%îûÇþy
”yöì˜îû !î¡ìëû!Ýþ þ™îû#Çþy „þîûy– „þ!›Ÿöì̃ îû îy!¡ìÅ„þ !îûöìþ™yÝÅþ
þ™yœÅyöì›öìrÝþîû „þyöìŠé öþ™Ÿ „þîûy– ö„þw ç îûy‹Ä myîûy ›!£œyöì”îû
xîßþiyîû vþz§¬!“þ ç ¢%îûÇþyîû ‹˜Ä „þyëÅ„þîû# !îûöìþ™yÝÅþ ÷“þ!îû „þîûy–
›!£œyöì”îû ‹˜Ä !îöìŸ¡ì !ŸÇþy”yöì̃ îû îÄîßþiy @ùÌ£’ £z“þÄy!” £œ
‹y“þ#ëû ›!£œy „þ!›Ÿöì̃ îû „þy‹Ð

36. (b)

37. (b) „þy!‹îûyˆy ‹y“þ#ëû vþz”Äy˜ ¦þyîûöì“þîû x¢› îûyöì‹Äîû ö†yœy‡yÝþ
ç ˜†¤yç ö‹œyëû xî!ßþi“þ ~„þ!Ýþ ‹y“þ#ëû vþz”Äy˜Ð !îöìÙ»îû
~„þŸ,D †[þyöìîûîû ”%£zéôé“,þ“þ#ëûy‚Ÿ ~£z ‹y“þ#ëû xîûöì’Ä îy¢
„þöìîûÐ ~!Ýþ ~„þ!Ýþ £zvþzöì̃ ¢öì„þy ßþº#„,þ!“þ²Ìy® òçëûyÓÅþ ö£!îûöìÝþ‹
¢y£zÝþóÐ

38. (c) ¢‹#î ö„þyöìŸîû ¢y£zöìÝþy²Õy‹öì› xî!ßþi“þ îûy£zöìîy‹ Ÿ„Åþîûyë%_«
(5-C) ~„þ“þsþf# „%þ[þœ#!î!ŸÜT öë !˜vþz!„Ïþ„þ xÄy!¢vþ ²Ì•y˜“þ
ö²Ìy!Ýþ˜ ¢‚öìÙÕ¡ì ç îûy£zöìîyöì‹y› ÷“þ!îûöì“þ ¢y£yëÄ „þöìîû “þyöì„þ
RNA îy îûy£zöìîyéôé!˜vþz!„Ïþ„þ xÄy!¢vþ îöìœÐ

xÄy!‰þ¦þy¢Å
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

39. (b)  !˜öì’Åëû ¢‚…Äy = 123904  (1408   2) = 176

40. (c) A : B : C = 2 : 9 : 11  A : B = 2 : 9

A xöìþ™Çþy Bôé~îû xyëû 280 Ýþy„þy öî!Ÿ

 Céôé~îû xyëû 11280 440
9 2

  


 Ýþy„þyÐ

41. (b) 4 9 20 43 90 185 376

×2+1 ×2+2 ×2+3 ×2+4 ×2+5 ×2+6

 !˜öì’Åëû ¢‚…Äy = 185 × 2 + 6 = 376

42. (d) ö›yÝþöìîûîû “þ!vþüêŸ!_« ëy!sþf„þŸ!_«öì“þ îû*þ™yhsþ!îû“þ £ëûÐ ö›yÝþîû
„þy‹ „þöìîû “þ!vþüê ²Ìîyöì£îû vþzþ™îû ‰%þÁºöì„þîû !e«ëûyîû !¦þ!_öì“þÐ

43. (a) 216 2 16 16 ;
2

    420 4 20 40
2

   

615 6 15 45
2

    

44. (b) 1772 ¢yöìœ !îKþy˜# !²ÌÞÝþöìœ ¢y›%!o„þ œî’ öíöì„þ
£y£zöìvÈþyöì‹˜ ö„Ïþyîûy£zvþ ²Ìlßþ“þ „þöìîûÐ !“þ!˜ £y£zöìvÈþyöì„Ïþy!îû„þ
xÄy!¢öìvþîû ˜y› ö”˜ !›vþz!îûöìëû!Ýþ„þ xÄy!¢vþÐ

45. (d)

90º

15º

ë…˜ ‡ ù̂Ýþyîû „¤þyÝþy !›!˜öìÝþîû „¤þyÝþyîû öíöì„þ x@ùÌî“Åþ#Ð

 !˜öì’Åëû ö„þy’
º

y y
30 x

5 2
          

   
º

º30 3030 9 90 15 105º
5 2

           
46. (d) ö…öìœyëûyvþü !„þlsþ !ŸÒ#ç ˜˜– vþy_«yîûç ˜˜ = 25 Ð
47. (c)
48. (a) ~…yöì̃ V = 336 !›/ö¢–   = 712,  = „þ“þÚ

V =  îy 336 = 712 × 

îy  = 0.47 !›Ýþyîû

xíÅyê– 1 îyîû „þÁ™öì̃  ¢%îûŸœy„þy öíöì„þ !˜†Å“þ “þîûD 0.47
!›Ýþyîû ëyëûÐ
  4700 !›Ýþyîû ”)öìîû vþzêþ™§¬ Ÿ·öì„þ öëöì“þ „þÁ™˜ ¢‚…Äy
= 4700/0.47 = 10000.

49. (a) SYSTEM Ÿ·!Ýþîû ¢‚öì„þ“þ öíöì„þ þ™!îûÜñyîû öë S, Y, T,
E, Môé~îû ¢‚öì„þ“þ £öìî ëíye«öì› 5, 6, 7, 2, 9Ð
TERMS Ÿöì· R î’Å!Ýþ ˜“%þ˜– ëyîû ¢‚öì„þ“þ xy›îûy
SYSTEM öíöì„þ þ™y!FŠé ˜yÐ

 TERMSéôé~îû ¢‚öì„þ“þ £öìî 72195Ð

50. (c)

45°

E

F

P

40 !›ÝþyîûAB

C D

20 !›Ýþyîû

30 !›Ýþyîû
25 !›Ýþyîû

¢%›öì̃ îû ‰þœyîû þ™í!Ýþ £œéôôôé
A  B  C  D  E  F

öë…yöì̃ – AB = 20 !›Ýþyîû– BC = 25 !›Ýþyîû– CD = 30
!›Ýþyîû– DE = 40 !›Ýþyîû ~î‚ PEF = 45°Ð
EFéôé~îû x!¦þ›%… vþz_îûéôéþ™)îÅ !”öì„þÐ
~…˜ ¢%›˜ vþz_îûéôéþ™)îÅ !”öì„þ £¤yÝþöìŠéÐ

51. (b) a b

x

£öìœ– a ç b !”öìëû †!àþ“þ ¢‚…Äyîû ¢öìD a ç b ë%_« „þîûöìœ
x þ™yçëûy ëyëûÐ
²Ìí› !‰þöìe– 49 + 4 + 9 = 62Ð
!m“þ#ëû !‰þöìe– 57 + 5 + 7 = 69Ð
 “,þ“þ#ëû !‰þöìe œ%® ¢‚…Äy = 98 + 9 + 8 = 115Ð

52. (d) †vþü 2 3 5 7 11 13 17 19 23

9

       


100 1
9

9 11
 

53. (a) ~…yöì̃  ¦þîû m = „þ“þÚ îœ P = 500 !˜vþzÝþ˜— cîû’ f =
2 !›Ýþyîû/ö¢2

P = mf  îy– 500 = m × 2
îy– m = 500/2 = 250

 ¦þîû = 250 !„þöìœy@ùÌy›Ð

54. (a) 56 56 56 56 ... 8     

55. (b) B ÝþÄyþ™!Ýþ xyöìîûy x !›!˜öìÝþ þ™îû ÝþÄyBþ!Ýþ ¦þ!“Åþ „þîûöìî

²ÌÙÀy˜%¢yöìîû–
3 3 x

1
12 15


 

îy–
15 12 4x

1
60

 
   îy– 4x = 33

îy– x =
33

4
!›!˜ìÝþ = 8 !›!˜ìÝþ 15 ö¢öì„þuþ
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢ÅxÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

56. (a)  £!îû’         ›ëû)îû

580

200×4 200×2

180 220

£!îû’ ­ þ›ëû)îû = 9 : 11

 þ›ëû)îû 11200 110
20

   !Ýþ

57. (c) vþz¦þëû !î¡ìöìëû£z þ™yŸ „þöìîû = (70 + 80 – 90)%
    = 60%

 ö›yÝþ þ™îû#ÇþyíÅ#îû ¢‚…Äy
144

100
60
   
 

     = 240 ‹˜
58. (a) •!îû oîÄ!Ýþîû e«ëû›)œÄ = 100x, !îe«ëû›)œÄ = 140x

40% „þöì› !„þ˜öìœ e«ëû›)œÄ = 60x

5 Ýþy„þy „þöì› !îe«ëû „þîûöìœ !îe«ëû›)œÄ = 140x – 5

²ÌÙÀy˜%¢yöìîû– 140x 5 60x 50

60x 100

 


îy– 80x – 5 = 30x îy– 50x = 5

 100x = 10

59. (d)
1550 R 3

300
100

 



300 100 200

R %
3 1550 31


 


²Ìí›
5%

!m“þ#ëû
8%

200
31

48
31

45
31

16   :   15

60. (d) 3(58) = 7
(3)2 + (7)2 = 58
9 + 49 = 58
58 = 58
1(10)3
(1)2 + (3)2 = 10
1 + 9 = 10
10 = 10
2(20)4
(2)2 + (4)2 = 20
4 + 16 = 20
20 = 20
5(51)6
52 + 62 = 51

25 + 36 = 51
61  51

61. (b) (8 × 6) + (5 × 3) = 63
(9 × 3) + (2 × 7) = 41
~„þ£z¦þyöìî–
(5 × 8) + (6 × 7) = 82

62. (c) 5 Ýþy„þy     1 Ýþy„þy

80

40 ×5

40 120

40 × 1

1 3:
5 Ýþy„þy ç 1 Ýþy„þy ›%oyîû ¢‚…Äyîû x˜%þ™y“þ = 1 : 3

1 Ýþy„þyîû ›%oyîû ¢‚…Äy 340 30
4

   !Ýþ

63. (d) îy!œ„þy     îyœ„þ

45

37 49

4 8
îy!œ„þy ­ îyœ„þ = 1 : 2

 îyœ„þ 230 20
3

   ‹˜

64. (b) 513    :  730  ::  1001  :    1332

8  + 13 9  + 13 10  + 13 11  + 13

65. (b)

–1 –2 –1
H G E D

+1 +2 +1
W X Z A

–1 –2 –1
Q P N M

–1 –2 –1
J I G F

66. (d) 729, 784,

+55 +57 +59 +61

841, 900, 1094 961

67. (c)

M N L O K P J Q I R H S

–1 +1
–1

–1 –1

+1
–1

+1 +1 +1

68. (c) x›,“þ¢îû Ÿ£îû!Ýþ ‰þ“%þíÅ !Ÿ… =îû& îûy›”y¢ þ™_˜ „þöìîû!Šéöìœ˜–
“þy£z “þyîû ×kþyöì‡ÅÄ ~£z !î›y˜î¨îû!Ýþ “þyîû ˜y›y %̃¢yöìîû ˜y›„þîû’
„þîûy £öìëûöìŠéÐ

69. (b) 20“þ› £z!˜‚öì¢îû þ™îû †vþü îûy˜
= 110 – (19 × 4) = 110 – 76 = 34

70. (d) b a b b / b a b b / b a b b
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

71. (a) 15 !›Ýþyîû

15 !›Ýþyîû

20 !›Ýþyîû 20 !›Ýþyîû

12 !›Ýþyîû

A

B C

X

D

”!Çþ’ !”„þ öíöì„þ = 20 + 12 = 32 !›Ýþyîû ”)öìîû îûöìëûöìŠéÐ
72. (b) …y!œ ö‰þïîyF‰þy!Ýþ þ™)’Å £öì“þ ¢›ëû œy†öìî

1 1 60
51 1 1 5
6010 30 20

  
   
 

= 12 !›!˜öìÝþ

73. (d) U

R

Q

SP

V

T

74. (b) ˜“%þ˜ îÄ!_«îû ç‹˜ = 65 + (2.5 × 8)
        = 65 + 20 = 85

75. (b) 100 ‹öì̃ îû ›öì•Ä 80 ‹˜ ö¦þyÝþ !”öìëûöìŠé

100 ‹öì̃ îû ›öì•Ä 80 65 52
100
    ‹˜ ö¦þyÝþ !”öìëûöìŠéÐ

76. (b) xy¢œ 350 100
100 – 5 6



Ýþy„þy = 500 Ýþy„þy

77. (a)

78. (b) 25 2025 20 40%
100
     Šéyvþü

79. (c) •!îû þ™%e ~„þy „þy‹!Ýþ x !”öì̃  „þîûöìîÐ

þ²ÌÙÀy˜%¢yöìîû–
5 x

3
5 x





5x = 15 + 3x

x =
15 1

7
2 2


80. (a) 104 – 90 = 14
104 – 34 = 70
90 – 34 = 56
!˜öì’Åëû ¢‚…Äy!Ýþ £œ 14, 70 ~î‚ 56 éôé~îû
†.¢y.=. = 14

81. (a)

82. (a)
4x 18 11

5x 18 16


 


îy– 64x – 288 = 55x – 198

îy– 9x = 90 þ
îy– x = 10

“þyöì”îû î“Åþ›y˜ îëûöì¢îû ¢›!ÜT = (4x + 5x) þîŠéîû
= 90 îŠéîûÐ

83. (c) Boy   is     shy   =   2    5    6

Ram       was     shy    =    4      2     3

He      was     wise    =    3      9     7

84. (c) ~„þ„þ ‡˜öì„þîû xyëû“þ˜ = !“þ˜!Ýþ †!œ“þ ‡˜öì„þîû ö›yÝþ xyëû“þ˜
~„þ„þ ‡˜öì„þîû xyëû“þ˜ = 33 + 43 + 53 = 216 ‡˜öì¢!›

 ‡˜öì„þîû îyýîû ÷”‡ÅÄ = 3 216 6  ö¢!›

85. (b) xöìŸy„þ+

xöìœy„þ+ x‹%Å̃ +

x!þ™Å“þ x‹ëû     ²Ì#!“þ++ –

 x!þ™Å“þ £öìœ˜ ²Ì#!“þîû ö”çîûÐ

86. (c) F

6

R I N G E

18 9 14 7 5

P

16

L E A S E

12 5 1 19 5
87. (a) þ™!îû¢#›yîû x %̃þ™y“þ ABC : PQR = 24 : 21 = 8 : 7

öÇþešþöìœ x˜%þ™y“þ = (8)2 : (7)2 = 64 : 49

ABC 64

PQR 49






448 64

PQR 49




49
PQR 448 343

64
    ö¢!›2

88. (c) šþöìÝþyöì¦þyÎÝþy£z„þ ²Ì!e«ëûyëû ö¢ïîû!î”%Äê þ™Äyöì̃ œ „þyëÅ „þöìîûÐ
ö¢ïîûŸ!_«öì„þ ÷î”%Ä!“þ„ Ÿ!_«öì“þ îû*þ™yhsþ!îû“þ „þîûy £ëû
šþöìÝþyöì¦þyÎÝþy£z„þ ²Ì!e«ëûyîû ›y•Äöì›Ð

89. (a)
30°

D

E
x

CB

A

15 !›Ýþyîû

24 !›Ýþyîû

DE = x !›Ýþyîû
CD = 24 !›Ýþyîû
BC = AE = 15 !›Ýþyîû

DE
tan 30

AE
 
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1 x

153


15 3
x 5 3

3 3


 


!›Ýþyîû

 EC = AB = 24 – 5 3 !›Ýþyîû
= 24 – 5 × 1.732 !›Ýþyîû
= 24 – 8.660 = 15.34 !›Ýþyîû

90. (a)

10

10

10 10

10

15

5

15
M N

Q

TS

P O

30
R

!îîûyÝþ ë!” Q !î %̈îû ›•Ä !”öìëû S !î %̈ öíöì„þ N !î %̈öì“þ
ëy˜– “þy£öìœ “þyîû x!“þe«yhsþ ö›yÝþ ”)îûc £öìî 30 !›ÝþyîûÐ

91. (d) ›Äy†öì˜!Ÿëûyöì›îû ‹˜Ä îÄî£*“þ ²Ì“þ#„þ!Ýþ £œ Mg–
›ÄyDy!˜öì‹îû ‹˜Ä îÄî£*“þ ²Ì“þ#„þ!Ýþ £œ Mn– ›!œî!vþ˜yöì›îû
‹˜Ä îÄî£*“þ ²Ì“þ#„þ!Ýþ £œ MoÐ

92. (b) !‹›öì˜yßþ™y›Å vþz!q” ö†yÛþ#öì“þ ˜@À î#‹ œÇþÄ „þîûy ëyëûÐ
!‹›öì̃ yßþ™y›Å Ÿöì·îû xíÅ ˜@À î#‹ ~î‚ î#‹=!œ šþöìœîû
!¦þ“þöìîû ö‡îûy íyöì„þ ˜y îîû‚ þ™y£z̃  ŸB%þîû ›öì“þy vþz§Ã%_« £ëûÐ
vþz”y£îû’éôô ¢y£z„þy¢– þ™y£z̃ ²Ì¦,þ!“þÐ

93. (b) (3 + 1) × 5 = 20
(7 + 3) × 7 = 70
(9 + 6) × 3 = 45

94. (c)    21 19 10 8
11

2

  


   45 15 38 8
7

2

  


   51 11 2 42
9

2

  


95. (c)    
21 1

69 39 964 64 2 2
  

 
2 2 2 2 2 2 81

93 3 3 9 3 9 992 4 2 4 2 2 2 2


      

 
2 2 2 4 2 4 101

93 3 3 9 3 9 992 16 2 16 2 2 2 2


      

 
2 2 2 3 2 11

193 3 3 9 3 392 8 2 8 2 2 2 2 2 2        

 
2 2 2 1 6 1 71

93 3 3 9 9 992 2 2 2 2 2 2



     

 9 64 ~îû ¢yöìí 9 8  =’ „þîûöìœ =’šþœ ~„þ!Ýþ ›)œ”
¢‚…Äy £öìîÐ

96. (d) òçëûyÓÅþ ö£œí övþó 2022 ~îû !í› £œ Our Planet, Our

HealthÐ ²Ì!“þ îŠéîû 7 ~!²Ìœ !îÙ»‹%öìvþü ßþºyßþiÄ ¢%îûÇþy !î¡ìöìëû
‹˜¢öì‰þ“þ˜“þy †öìvþü “%þœöì“þ ~£z !”î¢ þ™yœ˜ „þîûy £öìëû
íyöì„þÐ

97. (b) ˜y†!îû„þöì”îû öëöì„þyöì̃ y ‹îû&!îû þ™!îû!ßþi!“þöì“þ þ™%!œ!Ÿ ¢£yëû“þy
²Ì”yöì̃ îû vþzöìjöìŸÄ 'Kaaval Uthavi' xÄyþ™ ‰þyœ% „þîûœ
“þy!›œ˜yvþY îûy‹Ä ¢îû„þyîûÐ “þy!›œ˜yvþYîû ›%…Ä›sþf# ~› ö„þ
ÞÝþÄy!œ˜ ~£z xÄyöìþ™îû ¢)‰þ˜y „þîûöìœ˜Ð

98. (b) !”!ÍÔ ¢îû„þyîû ˜öì¦þÁºîû ›yöì¢ !”!ÍÔ ¢îû„þyöìîûîû “þîûšþ öíöì„þ
òöîûvþ œy£zÝþ x˜– †y!vþü xšþó ²Ì‰þyöìîûîû !m“þ#ëû þ™îÅ Öîû& „þîûœÐ

99. (d) ›öì̃  „þ!îû– ¢‚…Äy ”%!Ýþ £œ x ç 4x
 †¢y= x = 21
 ¢‚…Äy ”%!Ýþ £œ 21 ç 84
 öŠéyÝþ ¢‚…Äy!Ýþ £œ 21

100. (b) xhsþƒßþi ö„þy’ + î!£ƒßþi ö„þy’ = 180

3 î!£ƒßþi ö„þy’ + î!£ƒßþi ö„þy’ = 180 ( xhsþƒßþi ö„þy’
= 3 î!£ƒßþi ö„þy’V
4 î!£ƒßþi ö„þy’ = 180
 î!£ƒßþi ö„þy’ = 45

 !˜öì’Åëû îyý ¢‚…Äy
360

8
45

 

101. (b) 3 3 38000 27 343 
= 20 + 3 – 7 = 16

102. (d) ö†y”yîîû# ˜”#!Ýþ îöìDyþ™¢y†öìîû þ™!“þ“þ £öìëûöìŠéÐ ¢îîû›“þ#–
˜›Å”y ~î‚ “þy!® xyîûî ¢y†öìîû þ™!“þ“þ £öìëûöìŠéÐ

103. (b) 10 11 26 87 364 1845

×1+11 ×2+22 ×3+32 ×4+42 ×5+52

104. (a) 5 (4 ö›öìëû + 6 öŠéöìœV = 7 (3 ö›öìëû + 4 öŠéöìœV
20 ö›öìëû + 30 öŠéöìœ = 21 ö›öìëû + 28 öŠéöìœ
1 ö›öìëû = 2 öŠéöìœ
4 ‹˜ ö›öìëû ~î‚ 6 ‹˜ öŠéöìœ = (4 × 2) + 6 = 14
öŠéöìœ
14 öŠéöìœîû œyöì† 5 !”˜

 1 öŠéöìœîû œyöì†
14 5

70
1


  !”˜

 1 ö›öìëûîû œyöì† =
70

35
2
 !”˜

105. (c) ›öì̃  „þ!îû– ›#˜yîû î“Åþ›y˜ îëû¢ = 4x
~î‚ !¢˜yîû î“Åþ›y˜ îëû¢ = 3x
 Šéëû îŠéîû þ™îû ›#˜yîû îëû¢ = 4x + 6
 4x + 6 = 26
4x = 20
 x = 5
 !¢˜yîû î“Åþ›y˜ îëû¢ = 3 × 5 = 15 îŠéîû

106. (a) 2022 ¢yöìœ ö›!:öì„þyîû xy„þyþ™%öìÍñyöì“þ x˜%!Ûþ“þ ö›!:„þy˜

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



7Achievers
çöìþ™˜ !‹“þöìœ˜ œ˜ öÝþ!˜¢ “þyîû„þy ößþ™öì̃ îû îûyšþyöìëûœ
˜y”yœÐ ~!Ýþ “¤þyîû ‰þ“%þíÅ ö›!:„þy˜ çöìþ™˜ !Ÿöìîûyþ™yÐ !“þ!˜
šþy£z̃ yöìœ „þÄyöì›îû̃  ˜!îûöì„þ 6-4, 6-4 šþœyšþöìœ þ™îûy!‹“þ
„þöìîû̃ Ð

107. (b) òçëûyÓÅþ !íöìëûÝþyîû övþó ¢yîûy îŠéîû 27 ›y‰Åþ þ™yœ˜ „þîûy £öìëû
íyöì„þÐ ~£z !”îöì¢îû !í› £œ Theatre & a culture of

peaceÐ
108. (c) 2022 ¢yöìœîû 35“þ› ¢%îû‹„%þuþ e«yšþÝþ ö›œyîû !í› £œ

‹Á¿% ç „þyÙÂ#îûÐ ²Ì!“þ îŠéîû £!îûëûy˜yëû ~£z vþzê¢î þ™yœ˜ „þîûy
£öìëû íyöì„þÐ

109. (d) ~„þ!Ýþ ö²ÌÇþy†,öì£ Ÿöì·îû !ßþiîû“þy Ÿöì·îû îyîûîyîû ²Ì!“þšþœöì̃ îû
šþœyšþœ x’%îû’˜ ˜yöì› þ™!îû!‰þ“þÐ

110. (b) 1929 ¢yöìœ „þ‚öì@ùÌöì¢îû œyöì£yîû x!•öìîŸöì̃  òþ™)’Å ßþºîûy‹ó
”y!î xy˜%Ûþy!˜„þ¦þyöìî †,£#“þ £öìëû!ŠéœÐ ~£z x!•öìîŸöì˜
¢¦þyþ™!“þc „þöìîû!Šéöìœ˜ ‹ç£îûœyœ ö˜öì£îû&Ð

111. (c) 5 : 9 = (5 – 2) = 3 : 32

6 : 16 = (6 – 2) = 4 : 42

8 : 36 = (8 – 2) = 6 : 62

112. (a) “,þ“þ#ëû þ™,í#́îûy‹ ö‰þï£y˜ !Šéöìœ˜ ‰þy£›y˜y î‚öìŸîû Ÿy¢„þÐ
1191 !…ÊÞÝþyöì· !“þ!˜ “þîûy£zöì̃ îû ²Ìí› ë%öìkþ ›£Á¿” ö‡y!îûöì„þ
þ™îûyhßþ „þöìîû̃  !„þlsþ 1192 !…ÊÞÝþyöì· !“þ!˜ “þîûy£zöì̃ îû !m“þ#ëû
ë%öìkþ ›£Á¿” ö‡y!îûîû „þyöìŠé þ™îûyhßþ £˜ ~î‚ “¤þyöì„þ £“þÄy „þîûy
£ëûÐ “þyîûþ™îû ¦þyîûöì“þ ›%¢!œ› Ÿy¢˜ ²Ì!“þÛþy £ëûÐ

113. (b) MS-Excel ößþ±vþ!ŸÝþ xÄy!²Õöì„þŸ˜!Ýþ MS-Office
¢šþÝþçëûÄyîû @ùÌ&öìþ™îû ¢öìD xyöì¢Ð

114. (c) î,öì_îû þ™!îû!• 2r = 660

2 ×
22

7
 × r = 660

î,öì_îû îÄy¢y•Å r = 15 × 7 = 100 ö¢!›
xyëû“þöìÇþöìeîû þ™!îû¢#›y = 105 ö¢!›
2S÷”‡ÅÄ + ²ÌßþiV = 105
2(2x + x) = 105
2 × 3x = 105
x = 17.5 ö¢!›
 !˜öì’Åëû öÇþešþœ = (2x × x) = 2 × 17.5 × 17.5
= 612.5 î†Åöì¢!›

115. (a) 13 ˜‚ •yîûyëû ¢‚Kþy!ëû“þ „þîûy £öìëûöìŠé öë ¢›hßþ xy£z̃  öë=!œ
ö›ï!œ„þ x!•„þyîû=!œîû ¢öìD x¢D!“þþ™)’Å îy xî›y˜˜y „þöìîû
ö¢=!œ îy!“þœ „þîûy ëyöìîÐ
14 ˜‚ •yîûyëû ¢‚Kþy!ëû“þ „þîûy £öìëûöìŠé öë îûy‹Ä ö„þy˜ç
îÄ!_«îû „þyöìŠé xy£zöì̃ îû ¢y›öì̃  ¢›“þy îy ¦þyîûöì“þîû ¦)þéôé…öì[þîû
›öì•Ä xy£zöì̃ îû ¢›y˜ ¢%îûÇþy xßþº#„þyîû „þîûöìî ˜yÐ
42 ˜‚ •yîûyëû DPSP =!œîû ›öì•Ä x˜Ä“þ›– ëy îûy‹Ä=!œöì„þ
„þy‹ ~î‚ ›y“,þc eyöì̃ îû ‹˜Ä ˜ÄyëÄ ~î‚ ›y˜!î„þ xîßþiyîû
îÄîßþiy „þîûyîû !˜öì”ÅŸ ö”ëûÐþ
45 ˜‚ •yîûyëû DPSP =!œîû ›öì•Ä x˜Ä“þ›– ëy ~„þ!Ýþ îûy‹Äöì„þ
!˜öì”ÅŸ ²Ì”y˜ „þöìîû öë “þyîûy Šéëû îŠéîû þ™)’Å ˜y £çëûy þ™ëÅhsþ
¢„þœ !ŸÖîû ‹˜Ä ²Ìyí!›„þ ÷ŸŸî ëb ~î‚ !ŸÇþy ²Ì”y˜
„þîûöìîÐ

116. (b) 1916 ¢yöìœîû œöìÇøþï ‰%þ!_« „þ‚öì@ùÌ¢ ç ›%¢!œ› !œöì†îû ›öì•Ä
ßþºyÇþ!îû“þ £ëû þ™,í„þ !˜îÅy‰þ˜ ›[þœ#îû ”y!îöì“þÐ

117. (d) ¦þyîûöì“þ „,þ!¡ì òŸ¢ÄîŠéîûó ¢›ëû„þyœ £œ 1 ‹%œy£z öíöì„þ 30
‹%̃ Ð ¦þyîû“þ#ëû šþ¢öìœîû ›îû¢%› ”%!Ýþ ²Ì•y˜ }“%þöì“þ !î¦þ_«
ëíy– …y!îûšþ ~î‚ îû!îÐ …y!îûšþ šþ¢öìœîû ›îû¢%› ‹%œy£z öíöì„þ
xöìQyîîû þ™ëÅ§¬“þ ”!Çþ’éôéþ™!Øþ› ö›ï¢%!› îyëû%îû ¢›ëû ~î‚
îû!î Ÿöì¢Äîû ›îû¢%› £œ xöìQyîîû öíöì„þ ›y‰ÅþÐ

118. (c) ¦þyîû“þ#ëû ¢‚!î•yöì̃  Ÿ!_«Ÿyœ# ö„þw#ëû ¢îû„þyîû¢£ ë%_«îûyÜTÉ#ëû
îÄîßþiy „þy˜yvþy öíöì„þ ö˜çëûy £öìëûöìŠéÐ

119. (c)     öîû…y ­     ›yëûy
8000 × 24 : 6000 × (24 – 8)
8000 × 24 : 6000 × 16

8 × 24 : 6 × 16
2 : 1

 ›yëûy “¤þyîû œyöì¦þîû x‚Ÿ !£¢yöìî 2000
1000

2
  Ýþy„þy

þ™yöìîÐ
120. (c) 2022 ¢yöìœîû ›y‰Åþ ›yöì¢ „þ˜ÅyÝþ„þ ç =‹îûyöìÝþ ¢îÅ!˜Á¬

öî„þyîûöìcîû £yîû œÇþÄ „þîûy ö†öìŠéÐ ”%£z îûyöì‹Äîû î“Åþ›yöì̃
öî„þyîûöìcîû £yîû 1.8%Ð

——————

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å


